V d subsntuuon to find the solutions. This bypasses the process of completing the square and taking the square root.
1acos

Unit 5 Day 5: Solve by Quadratic Formula

Solve. 4x2 + 12x = —28
Fact: Yxeflaxt2e-o SR: Cunnet be done €S tH‘w FaIxt __)— _.=-7%
L gIxet3 xt7) =0 because of the HO 120 t9/4) - O .7 og
Cannet e done bn A (2029 e
HAx 4l ) -—ﬂ
o —+3 =3
\ lw 2)” J_a X=t3/p 2 ,i:
The process of completing the square can be performed on all quadratic equations. If we performed the proccsq on thc Ly
—BrJB2-dAc 2:, 1
standard form ax2 + bx + ¢ = 0, the solutions for x would be X - 7 A _ 3_ S'i‘, 1 .._..fH f
eSS
This formula is known as the G U U(J \atic FBWWUI Q . We can determine the values of @, b, and ¢ and use & -

set ;Izadratm formula to solve. Solutions should be written in exact, simplest form.

1.x24+6x+7=0 2.x24+6x+8=0 3.x246x+9=0 4.x2+6x+10=0
41 b=t c=1 0=l b=t ¢=9 =1 b-b =9 a=l b=L c=10
“:“‘[‘T’;l‘g“)“) X==b2 Jl 40 | x= t b)'-4c|>cq)X=~bfW'°>
2017 2.0 .
X2 J9 : e i L SN
— ,v;_uzg‘ X= \ﬂZJB" ==
X =L tzz(i = G2 X= L0 X=-b* I
2
- 21 2 = ~ :
I = 2 Z XH-J'/Z K= glz )(-: ("/Z x——; “.&LL
=327z 7 {—2,-u3 {-37 T-3t(7
Simplify
N2 —
5.x=9i;[7_i % 3/(\' 6.x=1oi‘/(_12?5)_4(5)(5) 7.x=10i ( 12(2)3) 43)(M)
X =qtbiz &% =l "= 105D =10E 0l — (pzy
3 @7\@ )o 10 b b
_ &

A= 32207 K= {13 X= loty = %/'{
i%tz 2 b y
Solve using the Quadratic Formula. — 4y x= 9,

8.3x2—2x+5=0 9.5x% = -6+ 10x
Q—fs L—_ -2 C=5 6/:(” 5)(1 ’|0‘/\+b>’0
X=2t] @/Z\q 0=S b="10 =L
— 5 4 L 2 =
( 22)(%)\(%)(5) @6'2@ X= 10 [E0)" 49
' , 2(5)
X—= 225, _ 2+ 2009 :
o P X=102J=70 - for 25
( lo
o :
= |0 :
M X = 51 s
2 5
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Discriminant

The value of the ex r&ssmn under the radical symbol is called the D\Lﬂm\hﬂ_ni- The discriminant indicates the

Numbey

=

and 110
t. Generalize your observauons J

i Dr/ of solutions. Review the discriminant in the quadratics that you solved on the

Description of Discriminant Examples of Number & Number of Times
Discriminants from #1-9 Nature/Type of Parabola will
and the solution(s) Solutions Cross x-axis
Discriminant is positive and non-perfect ‘#:‘ ] 4 i— 2. RCOJ
square ’ »
(b)? — 4ac > 0 and is not perfect square ;L 72 ‘Yy'a-‘dur, ol 2
(3442) (3£2%2) Splutions
Discriminant is positive and perfect L
square . #\LZ) I Z .Q-Cal
(b)? — 4ac > 0 and is perfect square 4 Ro‘ J‘_.‘ onal 2
2,41 ;,1? Soluttons
Discriminant is 0
(b)2—4ac=0 :&f’ﬁb l 2ral l
37 "
Disciminant is negative . n a
()2 — 4ac < 0 e 2 Complox/
—Ll ~gh T2 Q T O
f’a*«,s ﬁ‘l‘tr"% 77'“{—‘ e M
Solu flohs
. Choosing the Best Solving Method
Method Form ‘ Most EFFICIENT to use when...
. _ 1+ a =1
AX2bxtCc=0 |, e (-
— . \fc=o
Tacto ving ()X )=0 i a and C ake pyrimu
« I b=0=> difevenee sFsquaves 7
axztc =0 [.if b=o
SC\ Wave ( )2: J_l._:_ C\d USJ('Cd Pcvfcc‘}' Squa\/c,
Rovt (\[c]/{'cx L)
C Qh -ce ‘L . b " C 2
O[\;\ letc Pevinte lcbt - 0= and b s e
C Ne \Sldc in
quaie Vertex o vym
=od vatic any- .. ‘It b* Mac s Negatve
= €= . . )
Dvinula Set=0 < 1f ‘r"loHﬂ\V‘C( else 15 COASICR
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